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 id H(20) L(20) p r 
 1 20 16 .90 .20 

 2 20 20 . . 

 3 20 0 . . 

 4 0 0 . . 

 5 0 20 . . 

 6 10 10 . . 

 7 18 6 . . 

 8 6 18 . . 

 9     
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 !�ก"�ก�#��$��  
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���"%�&�� P P ����������  0.20.2  !)�!)�  0.80.8
R R ����������  0.20.2  !)�!)�  11



 ". ก$%&$'($')$*+,-'./,0 (IOC)

Test 1  4&56-/)7
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ก$%&$'($')$*+,-'./,0 (IOC) = =.%)*/ N

"/,>?@ A1 A2 A3 IOC

1 1 1 1 3 = 1

3

2 1 0 1 2 =0.7

3

3 1 0 0 1 = 0.3

3

4

'($ IOC >?@:A/8-/*?'($ 0.5 "BC68D



2. ก$%&$'($4E.?@7 (x)  GH)I,ก'($ก.$0

ก. 1,2,3,4,5

". 1,2,3,4,100

(x) =  1 + 2 + 3 + 4 + 5  = 3
5

(x) =  1 + 2 + 3 + 4 + 100  = 22
5

X  =  ΣΣΣΣX
N

3. S.D. +()64I?@704I6*$G%M$6  GH)I,กก$%ก%N;$7
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tt--test Pair (dependent)test Pair (dependent)

tt--test Independenttest Independent

tt--test one grouptest one group

ANOVA ANOVA 

ANCOVAANCOVA


